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G2 = G X G2IERE (%)
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Va = Z258(%) X 1000 = (4.5,7100) = 45 (0/m)
(2) HE Bft R A (Vs)
Vs = 1000 — (W + Ve + Vg + Va)
= 1000 — (158 + 90 + 382 + 45) = 325 (0/m)
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pS = { SIFE X SHEAH(% ) }+{ S28 FE X S2IREH(%) }
= 2.65 X (60,100) + 2.66 X (40,100) = 2.65 (g/ci)
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S = Vs X pS = 325 X 2.65 = 861 (kg/ni)
(5) HATAME#F #(S1-S2)
S1 = S X SHEAH%) = 861 X (60,100) = 517 (kg/ni)
S2 = S X S2{EAH(%) = 861 X (40,100) = 344 (kg/ni)
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S/a={Vs /(Vs+ Vg)} X 100
S/a {325 /(325 4+ 382)} X 100 = 46.0 (%)
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Ad = C X IRINE%) = 273 X (0.75,/100) = 2.05 (kg/m)
[(EHHE EREUER A Ad = 273 X (0.90,100) = 2.46 (kg/mi) ]
[AHETFREHER S Ad = 273 X (0.60,°100) = 1.64 (kg/m) ]
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